

November 22, 2024

UPDBY24005

Joseph J. Danielle Joseph Daniel, LLC 710 Trainer Street Chester, PA 19013

Re: Notice of Intent to Award

Naylors Run Flood Mitigation and Site Improvement

Naylors Run Flood Mitigation in Drexel Gardens Park, Project No: UDT-2023-02

Upper Darby Township, Delaware County, PA

Dear Mr. Danielle,

On behalf of Upper Darby Township, please be advised that the apparent low bidder for the above referenced project did not comply with the RCO requirements. As such, your company is the next apparent low bidder for the above referenced project at the Bid Price of \$1,287,024.15. In accordance with Township Ordinance No. 3107, Standards of Contractor Responsibility and Eligibility, you are required to provide documentation that your company meets all the requirements of the RCO Ordinance. You are also required to provide documentation that all your sub-contractors meet the RCO requirements.

A copy of this letter will be posted to the Township website and will be made available for public inspection in the Department of Public Works, Room 301. The public inspection period will begin on November 22, 2024 and will last for fifteen (15) calendar days, ending December 7, 2024.

A copy of the bid tabulation as prepared by MG Engineering Associates, LLC is attached for your records.

Should you have any questions please feel free to contact our office.

Sincerely,

PENNONI ASSOCIATES INC.

Khaled R. Hassan, PE Interim Township Engineer

cc. Edward Brown, Mayor Crandall O. Jones, Chief Administrative Officer Joseph P. Martin, Jr., Director of Public Works James Gallagher, Esq., Kilkenny Law, Township Solicitor Sean Kilkenny, Esq., Kilkenny Law, Township Solicitor

 $U: ACCOUNTS \setminus UPDBY \setminus UPDBY$

			1		_		DEDALII AN	D COMPANY						
						Excavation, Inc	ll ll	VC.	Frania		Joseph .	J Danielle LLC		Concrete, Inc.
	lks	1	11-14-58 4	Total Cost		74,725.0		8,181.0	\$ 1,845			87,024.15		,482,900.0
#	Items	Lowest	UnitofMea	QuantityRequired	UnitPrice	TotalCost	UnitPrice	TotalCost	UnitPrice	TotalCost	UnitPrice	TotalCost	UnitPrice	TotalCost
1														
#1-1	Mobilization (Max. 2.5% of total amount of bid up to \$20,000.00)	\$ 18,500.0	ıs	1	\$ 20,000.0	\$ 20,000.0	\$ 20,000.0	\$ 20,000.0	\$ 20,000.0	\$ 20,000.0	\$ 18,500.0	\$ 18,500.0	\$ 20,000.0	\$ 20,000.0
#1-1	Maintenance and Protection of Pedestrian	7 10,300.0		1	\$ 20,000.0	\$ 20,000.0	\$ 20,000.0	\$ 20,000.0	\$ 20,000.0	\$ 20,000.0	\$ 18,500.0	\$ 18,500.0	\$ 20,000.0	5 20,000.0
#1-2	and Vehicular Traffic	\$ 2,500.0	LS	1	\$ 15,000.0	\$ 15,000.0	\$ 22,900.0	\$ 22,900.0	\$ 50,000.0	\$ 50,000.0	\$ 2,500.0	\$ 2,500.0	\$ 5,000.0	\$ 5,000.0
#1-3	Topsoil, Fertilize, Seed and Straw Mulch	\$ 22,995.2	LS	1	\$ 75,000.0	\$ 75,000.0	\$ 49,000.0	\$ 49,000.0	\$ 200,000.0	\$ 200,000.0	\$ 22,995.2	\$ 22,995.2	\$ 60,000.0	\$ 60,000.0
#1-4	Site Clearing and Earthwork	\$ 100,000.0	LS	1	\$ 100,000.0	\$ 100,000.0	\$ 234,567.0	\$ 234,567.0	\$ 525,000.0	\$ 525,000.0	\$ 313,266.21	\$ 313,266.21	\$ 285,000.0	\$ 285,000.0
#1-5	Soil Erosion and Sediment Control Measures	\$ 14,567.25	ıs	1	\$ 15,000.0	\$ 15,000.0	\$ 38,900.0	\$ 38,900.0	\$ 57,500.0	\$ 57,500.0	\$ 14,567.25	\$ 14,567.25	\$ 50,000.0	\$ 50,000.0
#1-6	Signage and Striping, Inclusive	\$ 1,750.0	LS	1		\$ 15,000.0	\$ 4,900.0	\$ 4,900.0	\$ 5,000.0	\$ 5,000.0	\$ 1,750.0	\$ 1,750.0	\$ 3,500.0	\$ 3,500.0
#1-7	Asphalt Milling, Milled Material to be Retained by Contractor	\$ 10,800.0	SY	1200	\$ 25	\$ 30,000.0	\$ 26	\$ 31,200.0	\$ 10	\$ 12,000.0	\$ 9	\$ 10,800.0	\$ 15	\$ 18,000.0
#1-8	Subbase, 4" Depth (No. 2A)	\$ 24,750.0	SY	1650	\$ 30	\$ 49,500.0	\$ 39	\$ 64,350.0	\$ 15	\$ 24,750.0	\$ 26.91	\$ 44,401.5	\$ 60	\$ 99,000.0
	Superpave Asphalt Mixture Design, Base Course, PG 64S-22, 3.0 to 10 Million ESALS,													
#1-9	19.0 MM Mix, 2-1/2" Depth, SRL-L	\$ 41,250.0	SY	1650	\$ 40	\$ 66,000.0	\$ 45	\$ 74,250.0	\$ 25	\$ 41,250.0	\$ 33.07	\$ 54,565.5	\$ 60	\$ 99,000.0
	Superpave Asphalt Mixture Design, Wearing Course, PG 64S-22, 3.0 to 10													
	Million ESAL, 9.0 MM Mix, 1-1/2" Depth,													
#1-10	SRL-L	\$ 60,500.0	SY	2750	\$ 30	\$ 82,500.0	\$ 24	\$ 66,000.0	\$ 22	\$ 60,500.0	\$ 24.2	\$ 66,550.0	\$ 35	\$ 96,250.0
#1-11	Shade Tree, 6-8' High Three-Rail Wood Fence, 4' High with Wire	\$ 25,000.0	EA	50	\$ 500	\$ 25,000.0	\$ 1,234.0	\$ 61,700.0	\$ 600	\$ 30,000.0	\$ 800	\$ 40,000.0	\$ 770	\$ 38,500.0
#1-12	Mesh	\$ 18,000.0	LF	750	\$ 50	\$ 37,500.0	\$ 78	\$ 58,500.0	\$ 55	\$ 41,250.0	\$ 56.5	\$ 42,375.0	\$ 24	\$ 18,000.0
	Three-Rail Wood Fence, Gate, 4' High with													
#1-13	Wire Mesh, Two (2) 4' Wide Gates	\$ 1,500.0	EA	2	\$ 1,500.0	\$ 3,000.0	\$ 907	\$ 1,814.0	\$ 750	\$ 1,500.0	\$ 1,500.0	\$ 3,000.0	\$ 1,050.0	\$ 2,100.0
#1 14	Plain Cement Concrete Curb, (If and Where	\$ 6,000.0	LE	100	\$ 60	\$ 6,000.0	\$ 120	\$ 12,000.0	\$ 75	\$ 7,500.0	\$ 102.5	\$ 10,250.0	\$ 65	\$ 6,500.0
#1-14	Directed))	v,000.0		200	2 00	y 0,000.0	7 120	¥ 12,000.U	213	0.00در ، پ	y 102.3	¥ 10,230.0	ده د	۵,۵۵۵,۵ پ
	Cement Concrete Sidewalks For Curb Ramp													
#1-15	Construction, Including Detectable Warning Surfaces, 6" Thick Concrete	\$ 2,700.0	SY	15	\$ 550	\$ 8,250.0	\$ 340	\$ 5,100.0	\$ 180	\$ 2,700.0	\$ 536.42	\$8,046.29	\$ 225	\$ 3,375.0
	Plain Cement Concrete Sidewalk, (If and													
#1-16	Where Directed) Reinforced Concrete Driveway, 8" Thick, (If	\$ 2,500.0	SY	100	\$ 25	\$ 2,500.0	\$ 180	\$ 18,000.0	\$ 160	\$ 16,000.0	\$ 187.64	\$ 18,764.0	\$ 148.5	\$ 14,850.0
#1-17	and Where Directed)	\$ 5,000.0	SY	50	\$ 100	\$ 5,000.0	\$ 223	\$ 11,150.0	\$ 200	\$ 10,000.0	\$ 210.15	\$ 10,507.5	\$ 144	\$ 7,200.0
#1-18	Reinforced Concrete Pad, 6" Thick	\$ 27,500.0	SY	250	\$ 110	\$ 27,500.0	\$ 225	\$ 56,250.0	\$ 185	\$ 46,250.0	\$ 190.59	\$ 47,647.5	\$ 144	\$ 36,000.0
#1-19	6" Steel Bollard with Decorative Sleeve	\$ 15,000.0	EA	30	\$ 500	\$ 15,000.0	\$ 1,345.0	\$ 40,350.0	\$ 1,400.0	\$ 42,000.0	\$ 723.52	\$ 21,705.6	\$ 620	\$ 18,600.0
	Chain-Link Fence, 4' High, Black Vinyl	+ -0,0000			,	7,	7 2,0 .0.0	7 .0,000.0	7 -/	7 .2,000.0	7.20.02	7 = 2,1 = 2 = 2	7	
#1-20	Coated Mesh with Black Posts, 9 Gauge Chain-Link	\$ 32,400.0	LF	675	\$ 80	\$ 54,000.0	\$ 90.56	\$ 61,128.0	\$ 58	\$ 39,150.0	\$ 49.45	\$ 33,378.75	\$ 48	\$ 32,400.0
#1=20	Chain-Link Fence, 6' High, Black Vinyl	3 32,400.0	LF	0/3	3 80	3 34,000.0	3 50.30	3 01,120.0	2 30	\$ 59,130.0	3 45.45	\$ 55,576.75	3 40	3 32,400.0
	Coated Mesh with Black Posts, 9 Gauge	4 22 275 2		225	4.05	4 27 525 0		4 25 275 2	4.00	4 25 200 0	4 75 55	4 2 4 070 75		
#1-21	Chain-Link	\$ 23,075.0	LF	325	\$ 85	\$ 27,625.0	\$ 111	\$ 36,075.0	\$ 80	\$ 26,000.0	\$ 76.55	\$ 24,878.75	\$ 71	\$ 23,075.0
	Chain-Link Fence, Gate, 4' High, Black Vinyl													
#1-22	Coated Mesh with Black Posts, Two (2), 4' wide Gates, 9 Gauge Chain-Link	\$ 3,560.0	EA	4	\$ 2,500.0	\$ 10,000.0	\$ 890	\$ 3,560.0	\$ 1,000.0	\$ 4,000.0	\$ 1,500.0	\$ 6,000.0	\$ 1,000.0	\$ 4,000.0
#1-23	Baseball Netting, Supply and Install	\$ 18,000.0		6000	\$ 6	\$ 36,000.0	\$ 12	\$ 72,000.0	\$ 3	\$ 18,000.0	\$ 4.85	\$29,099.99	\$ 4.75	\$ 28,500.0
#1 24	Danahall Farra Tanana Guardinand Install	\$ 2,750.0	LF	500	6.10	¢ 5 000 0	4.50	\$ 28,000.0	6.10	¢ 5 000 0	\$ 13.85	£ 6 035 0	\$ 5.5	\$ 2,750.0
#1-24	Baseball Fence Topper, Supply and Install	\$ 2,750.0	LF	500	\$ 10	\$ 5,000.0	\$ 56	\$ 28,000.0	\$ 10	\$ 5,000.0	\$ 15.85	\$ 6,925.0	\$ 5.5	\$ 2,750.0
#1-25	Baseball Backstop, Complete Installation	\$ 20,000.0	EA	1	\$ 30,000.0	\$ 30,000.0	\$ 49,000.0	\$ 49,000.0	\$ 20,000.0	\$ 20,000.0	\$ 25,558.75	\$ 25,558.75		\$ 24,500.0
#1-26	Park Bench, Installation Only	\$ 5,975.84	EA	8	\$ 1,200.0	\$ 9,600.0	\$ 1,000.0	\$ 8,000.0	\$ 1,500.0	\$ 12,000.0	\$ 746.98	\$ 5,975.84	\$ 1,500.0	\$ 12,000.0
#1-27	Park Trash Receptacle, Installation Only	\$ 1,637.7	EA	5	\$ 1,000.0	\$ 5,000.0	\$ 1,000.0	\$ 5,000.0	\$ 1,000.0	\$ 5,000.0	\$ 327.54	\$ 1,637.7	\$ 1,000.0	\$ 5,000.0
#1-28	Park Table, Installation Only Baseball Infield Mix, Supply and Install, 6"	\$ 2,284.04	EA	4	\$ 1,500.0	\$ 6,000.0	\$ 1,900.0	\$ 7,600.0	\$ 2,000.0	\$ 8,000.0	\$ 571.01	\$ 2,284.04	\$ 1,500.0	\$ 6,000.0
#1-29	Depth	\$ 24,000.0	SY	800	\$ 30	\$ 24,000.0	\$ 40	\$ 32,000.0	\$ 50	\$ 40,000.0	\$ 35.46	\$ 28,368.0	\$ 35	\$ 28,000.0
			r.		6 40 600 5	£ 10.000 0	¢ 26 000 0	£ 26 002 2	6 3F 600 0	£ 25 000 0	6.7.000.01	£ 7 000 £ 2	A 55 000 5	¢ 55 000 °
#1-30	Park Pavilion (20' x 30'), Installation Only	\$ 7,000.01	EA	1	\$ 10,000.0	\$ 10,000.0	\$ 26,000.0	\$ 26,000.0	\$ 25,000.0	\$ 25,000.0	\$ 7,000.01	\$ 7,000.01	\$ 55,000.0	\$ 55,000.0
#1-31	Fixed Basketball Goal, Installation Only	\$ 2,571.57	EA	1	\$ 3,500.0	\$ 3,500.0	\$ 9,800.0	\$ 9,800.0	\$ 10,000.0	\$ 10,000.0	\$ 2,571.57	\$ 2,571.57	\$ 4,500.0	\$ 4,500.0
#1-32 #1-33	Interpretive Sign, Supply and Install Inlet, Type 'M', 4-6' Depth	\$ 1,750.0 \$ 23,750.0	EA EA	5	\$ 25,000.0 \$ 5,000.0	\$ 25,000.0 \$ 25,000.0	\$ 1,900.0 \$ 4,900.0	\$ 1,900.0 \$ 24,500.0	\$ 3,000.0 \$ 7,000.0	\$ 3,000.0 \$ 35,000.0	\$ 1,750.0 \$ 4,827.0	\$ 1,750.0 \$ 24,135.0	\$ 4,000.0	\$ 4,000.0 \$ 23,750.0
#1-34	Concrete Headwall, 18"	\$ 3,000.0	EA	1	\$ 6,000.0	\$ 6,000.0	\$ 9,800.0	\$ 9,800.0	\$ 3,000.0	\$ 3,000.0	\$ 4,297.86	\$ 4,297.86	\$ 5,500.0	\$ 5,500.0
#1-35	Concrete Headwall, 30"	\$ 3,500.0	EA	1	\$ 8,000.0	\$ 8,000.0	\$ 16,900.0	\$ 16,900.0	\$ 3,500.0	\$ 3,500.0	\$ 4,757.86	\$ 4,757.86	\$ 7,000.0	\$ 7,000.0
#1-36	Concrete Outlet Control Structure 18" High Density Polyethylene Pipe, 4-6'	\$ 5,000.0	EA	1	\$ 5,000.0	\$ 5,000.0	\$ 18,900.0	\$ 18,900.0	\$ 10,000.0	\$ 10,000.0	\$ 5,638.3	\$ 5,638.3	\$ 9,500.0	\$ 9,500.0
#1-37	Depth	\$ 19,500.0	LF	300	\$ 65	\$ 19,500.0	\$ 223	\$ 66,900.0	\$ 180	\$ 54,000.0	\$ 75.33	\$ 22,599.0	\$ 70	\$ 21,000.0
#1-38	30" Reinforced Concrete Pipe, Class III, 4-6' Depth	\$ 15,919.0	LF	100	\$ 350	\$ 35,000.0	\$ 567	\$ 56,700.0	\$ 300	\$ 30,000.0	\$ 159.19	\$ 15,919.0	\$ 170	\$ 17,000.0
#1-39	Permanent Reinforcement Matting	\$ 1,260.0	SY	200	\$ 36	\$ 7,200.0	\$ 45	\$ 9,000.0	\$ 10	\$ 2,000.0	\$ 6.3	\$ 1,260.0	\$ 7.5	\$ 1,500.0
#1-40	Rip-Rap Apron, D50=12" Manhole, 4' Diameter, 4-6' Depth, (If and	\$ 6,912.0	SY	200	\$ 35	\$ 7,000.0	\$ 34.56	\$ 6,912.0	\$ 50	\$ 10,000.0	\$ 83.24	\$ 16,648.0	\$ 62	\$ 12,400.0
#1-41	Where Directed)	\$ 12,000.0	EA	2	\$ 6,000.0	\$ 12,000.0	\$ 9,800.0	\$ 19,600.0	\$ 10,000.0	\$ 20,000.0	\$ 6,812.02	\$ 13,624.04	\$ 9,500.0	\$ 19,000.0
#1-42	Manhole, 6' Diameter, 4-6' Depth	\$ 24,000.0	EA	3	\$ 8,000.0	\$ 24,000.0	\$ 24,000.0	\$ 72,000.0	\$ 12,000.0	\$ 36,000.0	\$ 8,479.54	\$25,438.62		\$ 31,500.0
#1-43	Concrete Low-Flow Channel, 4" Thick Concrete with 4" 2A Stone Base	\$ 11,250.0	SY	225	\$ 50	\$ 11,250.0	\$ 139	\$ 31,275.0	\$ 180	\$ 40,500.0	\$ 175.14	\$ 39,406.5	\$ 168	\$ 37,800.0
	Closed-Circuit Televising (CCTV) Cleaning	, , , , , , ,	ľ		I			,			1			
	of Sewers, and Cured in Place Liner, 8"													
#1-44	Terra Cotta or Concrete Pipe	\$ 44,800.0	LF	700	\$ 64	\$ 44,800.0	\$ 69	\$ 48,300.0	\$ 80	\$ 56,000.0	\$ 75	\$ 52,500.0	\$ 65.5	\$ 45,850.0
	Closed-Circuit Televising (CCTV) Cleaning													
#1 45	of Sewers and Curied-In Place Liner, 30"	¢ 00 000 0		200	6 225	6075000	£ 050	£ 355 000 0	£ 200	¢ 00 000 0	6.215	£ 0.4 F00 0	£ 202 5	£ 44.4 750 0
#1-45 #1-46	Corrugated or Concrete Pipe Manhole Rehabilitation, 8' Depth	\$ 90,000.0 \$ 23,250.0		300 6	\$ 325	\$ 97,500.0 \$ 24,000.0	\$ 850	\$ 255,000.0 \$ 36,000.0	\$ 300 \$ 7,500.0	\$ 90,000.0 \$ 45,000.0	\$ 315	\$ 94,500.0 \$ 37,680.0	\$ 382.5	\$ 114,750.0 \$ 23,250.0
#1-47	Basketball Court White Textured Line Paint	\$ 1,000.0	LS	1	\$ 5,000.0	\$ 5,000.0	\$ 5,400.0	\$ 5,400.0	\$ 2,500.0	\$ 2,500.0	\$ 1,000.0	\$ 1,000.0	\$ 2,500.0	\$ 2,500.0

CONTRACTOR RESPONSIBILITY CERTIFICATION FORM

For simplicity, all contractors and subcontractors are designated as contractors herein below:
Contractor Name: Joseph J. Donielle Date: 1/14/7024
Contractor Name: Joseph J. Donielle Date: 1114/7024 Contractor Address: 710 Trainer St. Chester, PA 19013
Contact Name: Bill Rowley
Phone No.: 610-364-1700 Fax No.: 610-364-1701
Email Address: Estingting @ joseph jdanielle.com Project Name: Naylors Run Flood Mitigation - Site Improvement

Contractor certified by answering each of the questions below:

CHECK ONE FOR EACH QUESTION	YES	NO
(1) The Firm has all valid, effective licenses, registrations or certificates required by federal, state, county or local law, including by not limited to, licenses, registrations or certificates required to: (a) do business in the designated local; and (b) perform the contract work it seeks to perform. These shall include, but are not limited to, licenses, registrations or certificates for any type of trade work or specialty work which the Firm proposes to self-perform.	X	
(2) The Firm meets the bonding requirements for the contract, as required by applicable law or contract specifications and any insurance requirements, as required by applicable law or contract specifications, including general liability insurance, workers compensation insurance and unemployment insurance requirements.	X	
(3) The Firm has not been debarred by any federal, state or local government	×	
agency or authority in the past three (3) years. (4) The Firm has not defaulted on any project in the past three (3) years.	~	
(5) The Firm has not had any type of business, contracting or trade license, registration, or other certification suspended or revoked in the past three (3) years.	X	
(6) The Firm has not been cited for a willful violation of federal or state safety laws in the past three (3) years.	X	
(7) The Firm and its owners have not been convicted of any crime relating to the contracting business by a final decision of a court or government agency in the past ten years	×	
(8) The Firm has not within the past three years been found in violation of any law applicable to its contracting business, including but not limited to, licensing laws, tax laws, prompt payment laws, wage and hour laws, prevailing wage laws, environmental laws or others, where the result of such violation was the payment of a fine, back pay damages or any other type of penalty in the amount of \$1,000 or more.	X	

CHECK ONE FOR EACH QUESTION	YES	NO
(9) The Firm will pay all craft employees that it employs on the project the current wage rates and benefits as required under applicable federal, state, or local wage laws.	X	
(10) The Firm participates in a Class A Apprenticeship Program for each separate trade or classification in which it employs craft employees and shall continue to participate in such program or programs for the duration of the project.	×	
(11) The Firm has all other technical qualifications and resources, including equipment, personnel, and financial resources, to perform the referenced contract, or will obtain same through the use of qualified, responsible subcontractors.	X	
(12) The Firm will maintain all qualifications, resources and capabilities referenced in this certification throughout the duration of the project.	X	
(13) The Firm shall notify Upper Darby within seven (7) days of any material changes to all matters attested to in this certification.	\times	
(14)The Firm understands that the Contractor Responsibility Certification required by this section shall be executed by a person who has sufficient knowledge to address all matters in the certification and shall include an attestation stating, under the penalty of perjury, that the information submitted is true, complete and accurate.	\langle	

NOTE: As required by the Ordinance, if the bidder receives a Notice of Intent to Award Contract, the bidder shall provide Upper Darby with a final subcontractor list and subcontractor information (including subcontractor certifications), if not previously provided.

VERIFICATION

I certify that the information contained in the Contractor Responsibility Certification is true and correct. I further understand that false statements made in this Certification may be subject to the penalties under the law related to unsworn falsification to authorities, including but not limited to, the penalties set forth in 18 Pa.C.S.A. § 4904.

ATTACH ADDITIONAL SHEETS IF NECESSARY

Signature of Contractor's Authorized Representative:	7
Title:	Project Manager
Date:	11/14/1241